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1p 36 What is the main function of paragraph 2? 
A to explain why le Carré is an outstanding novelist according to Simon 

Jenkins  
B to make clear that le Carré struggled with having to lead a double life 
C to point out that Simon Jenkins feels an intimate connection to le 

Carré 
D to show that only second-rate critics dare to berate le Carré’s style 
 

1p 37 What is said about Guinness’s portrayal of Smiley in paragraph 3? 
A It caused a rift in his friendship with le Carré. 
B It gave a huge boost to le Carré’s writing career. 
C It meant the end of his work in the theatres. 
D It was spot on and brought him public acclaim. 
 

1p 38 Which of the following beliefs is part of Smiley’s worldview according to 
paragraph 4? 
A Communism is an evil that needs to be defeated at all costs. 
B Ordinary individuals can bring about change for the good. 
C The economies of capitalist regimes need discord to thrive. 
D Today’s hostilities can strengthen tomorrow’s alliances. 
 

1p 39 Which of the following fits the gap in paragraph 5? 
A acknowledge its attraction 
B address its purposelessness 
C expose its malice 
D reveal its importance 
 

1p 40 Which of the following fits the gap in paragraph 6? 
A As a matter of fact 
B Either way 
C In the same manner 
D What’s more 
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2p 41 Geef van de onderstaande beweringen aan of deze in overeenstemming 
zijn met de recensie. 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 Henry IV Parts 1 and 2 fit perfectly in the Christmas season. 
2 Antony Sher’s acting is of varying quality. 
3 Doran’s production honours the way Shakespeare depicted the world 

of his time.  
4 The play contains emotional and tragic elements. 
 
 
Let op: de laatste vragen van dit examen staan op de volgende pagina. 


